
SAP ABAP table N1CORDTS {IS-H: Service Hit List Clin.Ord.Type - Order Filler Assgmt}

N1CORDTS

MANDT [CLNT (3)]

CORDTSID [CHAR (32)]

CORDTTRID [CHAR (32)]

EINRI [CHAR (4)]

TARIF [CHAR (2)]

TALST [CHAR (10)]

N1CORDTTR

MANDT [CLNT (3)]

CORDTTRID [CHAR (32)]
 N1CORDTS-CORDTTRID = N1CORDTTR-CORDTTRID 

{0,1}

1

NTPK

MANDT [CLNT (3)]

EINRI [CHAR (4)]

TARIF [CHAR (2)]

TALST [CHAR (10)]

 N1CORDTS-TALST = NTPK-TALST 0..N

1 T000

MANDT [CLNT (3)]

 N1CORDTS-MANDT = T000-MANDT 
0..N1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N1CORDTS-EINRI = TN01-EINRI 

0..N

1

TNK01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]

 N1CORDTS-TARIF = TNK01-KATID 

0..N

1


